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Dragging and exiting, were necessary for him to mention

Overview

The X713 here explained that the reason the X1n mentions the 7o of the 213 by 77
(instead of p77) is to teach us that there is a X% 271 (even) by n.! Previously
the X7n3 (also) asked why teach the 7105 by 7732 when it can be taught in the case of
ano% 7ay. The X3 there did not answer 9% 7°I0XX 7730, but rather dismissed the
entire answer of 7a¥w2. Our 190N explains why the X713 did not offer the answer of
7% T0NOR 7, previously.
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Previously when the X723 asked that the Xin should have rather differentiated
between stopping to rest (where the 113 is 217), and stopping to adjust (where he

is Mwd), the X1 did not wish offer this answer that 7% 70X 773»; the reason is -
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Because it appears to the X3 that being 21w2 by nno% is a greater novelty than
the novelty that he is M5 by 99an.

An additional reason why the X3 did not say previously 7°% 70X 2%:
1[990 WY FPrw XY NPT WNN NNT DY HAN TNTITA 9919)0D 1N KD XINT )]

[And additionally that here the cases of XX and P77, are not completely the
same (777°72); however previously, where the case of And% is exactly the same
(77°72) as WD, it is not applicable to give such an answer].

!'See previous 9ar 71"7 'own [TIE footnote # 2]. There is a w17°n that he is MWD by 17an, therefore the X0 mentions it.
2 At the beginning of this Tv.
3 The x13 could have answered that the X1n stated 713 because of the w17°1 in 77, as it answers here.
4 See ‘Thinking it over’.
3 [Possibly maoin means] The w17°n of 77an is that there is a 7x¥17 217 for 27 (even though he did not pick it up),
and once we know that there is a naw 21 we understand that the 211 is 7wy, since the XXM 7213 happen
simultaneously. Regarding qna%, however the w17°n is (not that there is a X% 21°7, since he ultimately took it out, but
rather) that the first 77237/77°pY was not nullified by his stopping, and therefore it is an ARXI7 7M¥ 77°pY so it is a case
of 7" 12172 7°% op, and this is what the Xin wants to teach us; not so much the naw 2vn, but rather the rule of n"2%p.
¢ A marginal note indicates that this bracketed answer is from 7> 203 o°1w> Mmoo,
7 See previous 728 1"7 '0n that '01n needs a reason why P77 is more 777°72 than 27, therefore the answer of 7w
2 TR is sufficient (since in the question here, it is not so obvious that P11 is more 77°72 than 7).
8 The fact that there is an (unrelated) w17°1 by 7731 (see footnote # 5), does not allow us to ignore that w197 and An37
is certainty 777°73; in both cases he stopped, and nevertheless these o°17 are different. When differentiating we are
always searching for the two cases which are most similar which in this case is 9% and An22, but not 273,
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Summary
The wrn of AN3Y is greater than 77, therefore the X ) previously did not answer

770 TOVROR AN,

Thinking it over

Mmoo answers that the reason the 713 did not answer previously % 70%°R 7731,
is because An3Y is a ‘greater’ w17°n than 7an.” Seemingly even if An>% and 71 are
at the same level of w1n, he should say 7n>% because 77°72 *1n°1 21991, Why does
Moo need to say that AnoY is a *ov wyTn?!10

? See footnote # 4.
10 See X"wAmn.
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